Number of Coins

Mr. Scrooge

Score.

Mr. Scrooge likes to collect coins, lots of coins. Feeling a bit bored he
decided to count all his coins and make a bar graph of his findings.
Use the following clues and statements to complete the graph.

Mr Scrooge has 24 Pennies. The ratio Pennies to Nickels to Dimes is 4 : 5 : 2.
His Quarters are worth 5 dollars and 12% of his total number of coins is a Dime.
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Number of Coins

Answers

Mr. Scrooge likes to collect coins, lots of coins. Feeling a bit bored he
decided to count all his coins and make a bar graph of his findings.
Use the following clues and statements to complete the graph.

Mr Scrooge has 24 Pennies. The ratio Pennies to Nickels to Dimes is 4 : 5 : 2.
His Quarters are worth 5 dollars and 12% of his total number of coins is a Dime.
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